Functions in Algebra 1:

Linear Functions:

EQ: y=mx+b

Graph: Line

Quadratic Functions:
EQ: y=axt+bx+c
or
y=a(x-hy?+k

Graph: Parabola

Absolute Value Functions:

EQ: y=alx-hl+k

Graph: V-Shape

Graph this function, use at least 5 points.
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Graph this function, use at least 5 points.
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Graph this function, use at least 5 points.
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The equation indicates
that the graph should be
a V-shape that opens
down.
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that my graph is correct.
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of the vertex. Then you can use the slope to find the remaining points.



Graph this function, use at least 5 points.
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Neg means This shows the graph [ \
it opens down. moved 3 right and 8 up. * ] ’
The vertex will be
(3,8) L
Slope of the
sides is 3

Plot the vertex then use the slope of the sides to find the reméivning points.

You can now finish Hwk #20
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Problems 6, 7, 18, 19, 21, 23, 27, 37



